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课堂实练 词类 数词专题测试 

一、单项选择题 

1、One day on the moon is ______.

A、two Earth week long

B、two Earth weeks long

C、two Earth weeks longer

D、two Earth weeks length

2、The wheels of the old wagon are nearly ______ those of a modern car.

A、twice the size of

B、twice size of

C、twice sizes of

D、twice the size of

3、Strings of the same thickness made of nylon are ______.

A、five times stronger than those

B、five time stronger than those

C、five times strong than those

D、five times stronger as those

4、Three students ______ in this university come from the South.

A、of ten

B、out of in ten

C、out of ten

D、in tens

5、As he is not in good health, he goes to his factory only ______ just to learn something about the progress of experiment.

A、once a week

B、one week

C、one time a week

D、one a week

6、The Olympic Games are held ______.

A、every four years

B、every four year

C、every fourth years

D、every four-years

7、With the miniaturization of the structural components the weight of these electric devices has decreased ________ 30 percent.

A、as

B、with

C、in

D、by

8、This month the production of stainless steel in our steelworks has increased ______ 2,000 tons.

A、with

B、in

C、on

D、by

9、Three-fourths of the surface of the earth ______ covered with water.

A、are

B、is

C、were

D、be

10、She went to the countryside ______.

A、in the morning at nine/on June first,1968

B、on June first,1968/in the morning at nine

C、at nine in the morning/on June first,1968

D、on June first,1968/at nine in the morning

答案部分 



一、单项选择题
1、

【正确答案】 B

【答案解析】
two Earth weeks long，可以直接翻译为：两个地球周那么长。整句话的意思为：月球上的一天等于地球上的两周那么长的时间。

【答疑编号10011913】 
2、

【正确答案】 A

【答案解析】
twice the size of这个型号的两倍。整句话的翻译为：过去旧马车的轮子相当于现在汽车轮子的两倍。

【答疑编号10011912】 
3、

【正确答案】 A

【答案解析】
time做“倍数”讲的时候是可数名词，二以上的数词与之连用的时候，time用复数。由于后面用than，因此前面应该用形容词的比较级。

【答疑编号10011911】 
4、

【正确答案】 C

【答案解析】
three out of ten，意思为“十分之三”。固定词组。

【答疑编号10011910】 
5、

【正确答案】 A

【答案解析】
表示“频率”的“一周去一次”用固定搭配"once a week"。

【答疑编号10011907】 
6、

【正确答案】 A

【答案解析】
每几年的固定用法是"every ...years"。

【答疑编号10011906】 
7、

【正确答案】 D

【答案解析】
倍数的减少固定的搭配是用"by+n%(n代表任何数）"。

【答疑编号10011905】 
8、

【正确答案】 D

【答案解析】
"by"后面可以直接加数词，表示“增加了”。

【答疑编号10011904】 
9、

【正确答案】 B

【答案解析】
“四分之三”作主语的时候，把它看做是单数，因此应该用"is"。

【答疑编号10011903】 
10、

【正确答案】 C

【答案解析】
英语的时间表达习惯“从小到大”，“月和日”可以互换。

【答疑编号10011902】 
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